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2

2 2.

n,

n oznacza

Tabela 1.

nr

2

2

na
 0

8.
20

07
 r.

2

1 08.09.2005 23 5 1374 2652750 2427

2 19.10.2005 22 5 1419 1370963 966,15

3 09.11.2005 46, 47 21 4 2012 864000 429,42 529

4 09.11.2005 21 21 431 360000 835,27
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2007 roku wynosi
2.

n
2.

23
2.

5 21.12.2005 20 45-K 237 200000 843,88

6 19.01.2006 19 6 203 120000 591,13 714

7 10.01.2006 19 1138 1600000 1698

8 03.03.2006 17 4 391 256000 654,73 775

9 27.03.2006 17 8 4397 6161569

10 26.04.2006 16 6 415 200000 481,93 565

11 07.06.2006 6, 7 14 46-K 1767 2187000 1237,69 1423

12 06.07.2006 13 4 323 200500

13 24.08.2006 12 22 365 220000 679

14 04.09.2006 11 4 2180 1500000 768

15 30.10.2006 10 14-K 507 735150

16 30.10.2006 10 14-K 268 388600

17 11.01.2007 7 6 352 306000 869,32 932

18 29.01.2007 756 7 23 336 200000 595,24 638

19 05.02.2007 6 21 2312 4200000 1816,61 1928

20 27.02.2007 6 13-K 452 740000 1637,17 1738

21 19.04.2007 4 21 408 122400 312

22 28.05.2007 3 21 481 288600 618

23 04.07.2007 1 6 415 2000000 4819,28 4867

Analiza 08.2007 0

Tabela 1 
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Tabela 2.

Oznaczenie Minimum Maksimum

2,30 1,50 3,0 0,45

1,52 1,00 2,0 0,51

rzeczowe 0,87 0,00 1,0 0,34

1280,09 312,00 4867,0 953,52

Tabela 3.

Oznaczenia
Przeznaczenie Ograniczone 

rzeczowe

1,00 0,47 0,63

0,47 1,00 0,15 0,53

rzeczowe 0,15 1,00 0,08

0,63 0,53 0,08 1,00

Tabela 4.

Oznaczenia
Przeznaczenie Ograniczone 

we

i 0,63 0,53 0,08

i
2 0,40 0,29 0,01

ki 58 41 1
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Tabela 5.

Oznaczenia
Przeznaczenie 

rzeczowe

ki
58 41 1

min
2 oraz 

2
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Tabela 6.

Przeznacze Ograniczone 
gowana na 

08.2007
2

1 5 2427

2 5

3 46, 47 4 529

4 21

5

6 6 714

7 1698

8 4 775

9 8

10 6 565

11 6, 7 1423

12 4

13 22 679

14 4 768

15

16

17 6 932

18 756 23 638

19 21 1928

20 1738

21 21 618

Tabela 7. 

Oznaczenie Minimum Maksimum

â1 1,50 3,0 1

â2 1,00 2,0  2

rzeczowe â3 0,00 1,0  3

529,00 2427,0
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1 a
–

1 – â1 2 a
–

2 – â2 3 a
–

3 – â3

j

j j c
j

aj

k r
c = ,

a–1, a
–

1, a
–

1

1 2 31155,38 471,54 ( 2,29) 274,51 ( 1,52) 0,75 ( 0,85)w a a a

2 2.

szawa 2006.

.
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Wycena, 3, 1996.


